Ratio to ALEPH

o(1 jet)/o(inclusive)

=
o

=

=
<
=

|
<
N

1077

0.5

206 GeV ee */Z (Hadromc)

1 [T | T T T T T TTT T T T T T TTT | ig
= = 0
— = >
— - )
B =
=
= =
— 3N
= A
= o
- _ -2
— __m
==
(90)
B <
- [ — ™
= = O
— 30
— ] m
B 1<
== _|=
= m ALEPH g ?%
— --3-- Herwig 7.2.0 .J‘ault e
—— —— Pythia 8300 ‘default — ;
= ¢ Sherpa #73.1 default =k
— _: a b
—— + — §
= =5 O
— - O
:l —1 | | | | | | | | | | | | | | | | | | | |: E
:| l l l 1 [ 1 1 1 1 [ 1 1 1 1 | 1 1 1 1 |:
S =F
1
B — 0.5
I T T R T I T T T T I T T T T I T T T T |
-0.5 -04 -0.3 -0.2 -0.1



	Contents
	Page 1


